

STREET & ALLEY REHABILITATION

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	10,572	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, ramp, or curb including all incidentals for the sum of	\$21.00	\$222,012.00
2	563	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Forty Five Dollars & Cents per Cubic Yard	\$45.00	\$25,335.00
3	2	EA	Adjust manhole ring and cover per City of Allen standards, including all incidentals, for the sum of One Thousand Dollars & No Cents per Each	\$1,000.00	\$2,000.00
4	400	SY	Construct 4 inch Class C, 3600 psi, reinforced concrete sidewalk paving, including all incidentals for the sum of Sixty Five Dollars & No Cents per Square Yard	\$65.00	\$26,000.00
5	80	SY	Construct 6 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentals for the sum of Sixty Three	\$63.00	\$5,040.00
6	4,128	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentals for the sum of SeventyDollars &NoCents per Square Yard	\$70.00	\$288,960.00
7	555	SY	Construct 8 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, including all incidentals for the sum of Seventy FiveDollars &NoCents per Square Yard	\$75.00	\$41,625.00
8	2,315	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentals for the sum of EightyDollars &Cents per Square Yard	\$80.00	\$185,200.00



STREET & ALLEY REHABILITATION

ITEM	EST	UNIT	STREET & ALLEY REHABILITATION DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN	EXTENDED	
NO.	QNTY			FIGURES	AMOUNT	
9	1,244	SY	Construct 10 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, including all incidentals for the sum of	\$83.00	\$103,252.00	
10	1,815	SY	Construct 8-4-8 inch Class C, 3600 psi, strength reinforced concrete alley paving, including all incidentals for the sum of	\$60.00	\$108,900.00	
11	169	LF	Construct 6 inch high Class C, 3600 psi, reinforced concrete curb, including all incidentals for the sum of ThreeDollars &NoCents per Linear Foot	\$3.00	\$507.00	
12	25	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp, including truncated domed pavers and all incidentals for the sum of One Thousand Five HundredDollars &NoCents per Each	\$1,500.00	\$37,500.00	
13	985	LF	Furnish and install pavement markings, including all incidentals for the sum of	\$4.00	\$3,940.00	
14	1,314	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentals for the sum of	\$15.00	\$19,710.00	
15	10	МО	For temporary portable arrow boards and all incidentals for the sum of Seven Hundred Fifty Dollars & No Cents per Month	\$750.00	\$7,500.00	
16	10		For temporary portable message boards and all incidentals for the sum of Two Thousand Five HundredDollars &NoCents per Month	\$2,500.00	\$25,000.00	



STREET & ALLEY REHABILITATION

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
17	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including message and arrow boards and all incidentals for the sum ofSeventy Five ThousandDollars &NoCents	\$75,000.00	\$75,000.00
18	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Five ThousandDollars &NoCents	\$5,000.00	\$5,000.00
19	25	SY	Remove and replace vehicular brick pavers (4"x8"x2-5/8") to match existing in pattern and color, including sand bedding and all incidentials for the sum of	\$200.00	\$5,000.00
20	40	SY	Furnish and Install vehicular brick pavers (4"x8"x2-5/8"), including sand bedding and all incidentials for the sum of One Hundred Seventy Five Dollars & No Cents per Square Yard	\$175.00	\$7,000.00
21	1	LS	Mobilization, Bonds, Insurance and all Permitting (entire project), complete, for the Lump Sum of One Hundred Ten ThousandDollars &NoCents	\$110,000.00	\$110,000.00

TOTAL - STREET AND ALLEY REHABILITATION:

\$1,304,481.00



ANGEL PARKWAY LEFT TURN LANES

ANGEL PARKWAY LEFT TURN LANES							
ITEM	EST	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN	EXTENDED		
NO.	QNTY			FIGURES	AMOUNT		
1	95	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, ramp, or curb including all incidentals for the sum of Dollars & Dollars & Po Cents per Square Yard	\$30.00	\$2,850.00		
2	366	CY	Unclassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of Twenty FiveDollars &NoCents per Cubic Yard	\$25.00	\$9,150.00		
3	790	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentals for the sum of	\$80.00	\$63,200.00		
4	200	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentals for the sum of	\$15.00	\$3,000.00		
5	3	МО	For temporary portable arrow boards and all incidentals for the sum of Seven Hundred Fifty Dollars & No Cents per Month	\$750.00	\$2,250.00		
6	3	МО	For temporary portable message boards and all incidentals for the sum of Two Thousand Five HundredDollars &NoCents per Month	\$2,500.00	\$7,500.00		
7	".c. 1	LS	Traffic Control for single lane closure of arterial or collector roadways, including message and arrow boards and all incidentals for the sum of	\$10,000.00	\$10,000.00		
8	ī	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentals for the Lump Sum of Five ThousandDollars &	\$5,000.00	\$5,000.00		

TOTAL - LEFT TURN LANES:

\$102,950.00



PROPOSAL SUMMARY

	TOTAL STREET AND ALLEY REHABILITATION _	\$1,304,481.00
CALENDAR DAYS BASE BID: 210		
	TOTAL ANGEL PARKWAY LEFT TURN LANES	\$102,950.00
CALENDAR DAYS ANGEL PARKWAY LEF	T TURN LANES: 30	
	TOTAL BID	\$1,407,431.00
BIDDING COMPANY:: SUBMITTED BY: SIGNATURE: TITLE: DATE: President	ucture & Road, LLC	SEAL SEAL SOLUTION OF TO THE PROPERTY OF THE P

BID	EM	The	\sim	n	C I	* B.	Ж	E 1	NT"	T
DIL	L.I.	11.73		IN.	71	٠, ١٩	48	P. I	A	

The Contractor hereby agrees to commence work within Ten (10) days after the date written notice to do so shall have been given to him, and to substantially complete the same within 240 calendar days after the date of the written notice to commence work subject to such extensions of time as are provided by the General and Special Conditions. The work proposed to be done shall be accepted when fully completed and finished in accordance with the plans and specifications.

In the event of the award of a contract to the undersigned, the undersigned will furnish a Performance Bond and Payment Bond for the full amount of the contract.

The undersigned certifies that the bid prices contained in this proposal have been carefully checked and are submitted as correct and final.

NOTE: Unit and lump sum prices must be shown in words and figures for each item listed in the proposal and in the event of discrepancy the words shall control.

Receipt is hereby acknowledged for the following addenda to the contract documents:

Addendum No. 1 dated Addendum No. 2 dated AUGUST 2, 2018 Received Received

AUGUST 2, 2018

The undersigned, in submitting this bid proposal and their endorsement of same, represents that they are authorized to obligate their firm, that they have read this entire bid proposal package, is aware of the covenants contained herein and will abide by and adhere to the expressed requirements. Submittals will be considered as being responsive only if entire Bid Package plus any/all attachments is returned with all blanks completed.

Total Amount Bid: \$ 1,407,431,00

Total Days Bid:



Seal and Authorization (If a Corporation)

RBR INFRASTRUCTURE & ROAD, LLC

Contractor

JULIO R. BETANCES

lease print name)

Signature:

PRESIDENT

13140 COIT ROAD, SUITE 230

Address

DALLAS, TEXAS 75240

City, County, State and Zip

214-389-2900

Telephone

E-Mail Address:

RAFYBETANCES@RBR-LLC.COM